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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
ikl 48, 442| 109, 609] 53, 318] 56, 291 15| 67  -74 46 120 7] 390] 383 0 104 104
HI—TH 703l 1,492 728 764 -7 -7 -1 0 1 -5 0 5 -1 2 3
FL T H 563 1,296 638 658 1 -1 1 2 2 3 1 0 0 0
LI =TH 459 1,037 505 532 0 0 -2 1 3 -1 3 4 3 4 1
SuAE 1, 7250 3,825| 1,871 1,954 —6 —6 —4 2 6 —4 6 10 2 6 4
Sk —TH 472 940 442 498 1 -6 0 0 0 -6 2 8 0 0 0
. = 7290 1,725 831 894 -2 1 0 2 2 0 3 3 1 1 0
SR —TH 5471 1,289 614 675 -4 =10 -3 0 3 -7 3 10 0 0 0
S AT H 401 894 438 456 0 -3 -1 0 1 -2 1 3 0 0 0
o h ] B 615[ 1,335 642 693 -2 0 0 0 0 1 1 0 -1 0 1
BN T B 237 502 249 253 0 0 -1 0 1 1 2 1 0 0 0
ARt TH 649 1,672 807 865 2 2 -1 1 2 0 3 3 3 3 0
oA\ T H 391 854 401 453 1 2 0 0 0 2 3 1 0 0 0
IV B 611| 1,453 717 736 -1 1 2 3 1 -5 4 9 4 4 0
B naatl 4,652 10,664 5,141 5,523 -5 -13 —4 6 100 -16 22 38 7 8 1
e n—1H 354 814 398 416 2 2 0 0 0 2 2 0 0 0 0
w7 HL 1,009 2,113] 1,067[ 1,046 5 0 2 2 10 15 5 -5 2 7
HHk o —TH 680| 1,400 694 706 -2 -11 -2 0 2 -9 2 11 0 0 0
W A AEL 2,043 4,327] 2,159] 2,168 5 —4 -2 2 4 3 19 16 -5 2 7
Mt A — T H 5531 1,242 608 634 -1 3 0 3 3 5 8 3 -2 0 2
A T H 358 918 471 447 -1 -2 0 0 0 -2 0 2 0 0 0
Mk R =TH 260 555 287 268 -2 —4 -2 0 2 -2 1 3 0 0 0
ik L G| 557 1,291 653 638 -5 -2 0 1 1 -2 4 6 0 0 0
msEr aaEtl 1,728 4,006] 2,019 1,987 -9 -5 -2 4 6 -1 13 14 -2 0 2
TEIT) 367 847 408 439 2 3 -2 0 2 5 5 0 0 0 0
HOEEN— T H 207 433 210 223 -3 -1 0 0 0 -2 0 2 1 1 0
HOEE T H 417 938 458 480 -8  -19 -1 0 1 -6 0 6] -12 0 12
HoEEI =T H 686 1,697 836 861 -3 -9 -5 0 5 -2 0 2 -2 0 2
HOEEAN T H 809 2,026] 1,005| 1,021 0 7 2 2 0 5 7 2 0 0 0
HEROH T H 4411 1,026 516 510 -3 -2 -1 0 1 -1 2 3 0 0 0
HOEEIS T H 398 890 439 451 -1 —4 -1 0 1 -3 0 3 0 1 1
HoEEOETH 675 1,459 710 749 0 -2 -2 1 3 0 7 7 0 0 0
HOEESOSE 3,633 8,469 4,174] 4,295 -18| =30 -8 3 11 -9 16 25l -13 2 15
PEEE 1,514 2,790 1,333 1,457 7 1 -1 1 2 2 8 6 0 0 0
FHIAR 302 635 329 306 2 1 0 0 0 1 3 2 0 0 0
EE g —T 548 1,118 515 603 -2 -3 1 2 1 —4 1 5 0 2 2
EE g — T 258 520 261 259 0 0 0 0 0 0 0 0 0 0 0
R =T H 526 1,159 583 576 0 1 1 0 -1 0 1 0 0 0
TEE Py T 631 1,295 614 681 -3 0 0 0 -6 5 11 3 3 0
EEP g R T H 237 539 270 269 0 0 0 0 0 0 0 0 0 0 0
EER A2 2 200 4,631 2,243 2,388 -1 -6 2 3 i -11 6 17 3 5 2
B RHT— T H 676l 1,365 643 722 4 2 -1 1 2 0 5 5 3 3 0
EEIARRT T H 654/ 1,278 592 686 —4 —6 0 0 0 —6 5 11 0 0 0
EEOARRTAE 1,3300 2,643 1,235 1,408 0 —4 -1 1 2 -6 10 16 3 3 0
RPN 267 769 410 359  -10]  -12 0 0 of -11 1 12 -1 0 1
WHR—TH 714 1,628 805 823 8 0 0 0 0 9 9 7 7 0
OO T H| 1,748 3,975 1,916] 2,059 -1 2 3 1 0 19 19 0 4 4
WHR=TH 868 2,220] 1,085| 1,135 3 4 -1 0 1 0 4 4 5 5 0
HHRIT H 494 1,174 558 616 -3 -8 -2 0 2 -2 5 7 —4 0 4
HPREEH 3,824 8,997| 4,364 4,633 7 5 -1 3 4 -2 37 39 8 16 8
HiR—TH 685/ 1,536 745 791 5 2 3 1 7 10 3 —4 1 5
LR - TH 933 2,229] 1,113] 1,116 0] -11 -5 0 5 0 5 -6 0 6
PR =TH 493 1,051 535 516 -2 -1 -1 0 1 0 2 0 0 0
JedRAE 2, 111 4,816] 2,393] 2,423 -1 -7 —4 3 7 7 17 10  -10 1 11
T IROBTHT 325 816 393 423 1 0 0 1 1 0 4 0 0 0
el 1,611 5,109 2,280 2,829 -2 -7 -5 1 6 -5 10 3 8 5
M E T H 730 1,702 819 883 1 -3 -3 0 3 3 3 -3 0 3
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LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 7591 1,813 908 905 8 8 -1 1 2 6 9 3 3 3 0
MoE =1 H 644/ 1,514 753 761 0 0 0 1 1 2 4 2 -2 0 2
A EN T H 931 2,228] 1,050 1,178 3 3 2 2 7 8 1 —4 0 4
RCENNE 653 1,480 730 750 8 10 -1 0 1 7 9 2 4 4 0
MAEST H 419 986 461 525 -1 -1 -2 0 2 1 5 4 0 1 1
mAEaE 4,136)  9,723] 4,721| 5,002 19 17 -7 4 11 26 41 15 -2 8 10
VEPe R 565 1,136 561 575 0 0 -1 0 1 0 2 2 1 1 0
e —TH 321 694 328 366 0 -1 0 0 -2 0 2 1 1 0
i — T H 599 1,333 632 701 —4 -8 0 0 —7 9 -1 0 1
A gl 920 2,027 960| 1,067 —4 -9 0 0 -9 11 0 1 1
E— 1 H 370 748 379 369 52 55 1 0 54 59 5 0 0 0
B — T H 642| 1,371 652 719 -2 -3 -2 0 2 -1 4 5 0 0 0
=T H 403l 1,059 530 529 2 4 2 2 0 2 2 0 0 0 0
EAEr| 1,415 3,178 1,561 1,617 52 56 3 2 55 65 10 0 0 0
e —TH 382 924 435 489 0 -2 -3 0 3 0 0 1 1 0
WHE T H 441 1,087 545 542 -3 -2 -1 0 1 -3 5 2 3 1
HWHE =T H 812l 1,990| 1,018 972 13 -3 2 5 6 14 8 10 13 3
W& T B 446| 1,034 503 531 0 3 -1 0 1 1 1 0 3 4 1
B E ] H 814/ 1,762 862 900 —7 -5 -2 1 3 -3 4 7 0 1 1
HHIENT H 240 504 252 252 1 -1 -1 0 1 2 2 0 -2 0 2
HESEr 3, 1350 7,301 3,615 3,686 -2 6 -11 3 14 3 23 20 14 22 8
<HWE—TH 601fl 1,378 669 709 -3 —6 -2 1 3 —4 3 7 0 0 0
<HEIL—TH 718| 1,485 723 762 -5 -3 -1 0 1 -2 5 7 0 0 0
SHBEIL=TH 519 1,137 557 580 0 —4 -1 0 1 3 7 4 -6 3 9
<HEWLPTH 576 1,186 587 599 -8 -12 -3 0 3 -6 2 8 -3 1 4
<O T H 293 658 354 304 -2 -2 -1 0 1 -1 0 1 0 0 0
<X AR 2,707 5,844 2,890 2,954 -18] 27 -8 1 ol  -10 17 27 -9 4 13
WIE AR —TH 788[l 1,702 844 858 -3 —4 0 0 0 —4 4 8 0 0 0
WIEAR T H 478[ 1,141 584 557 1 -2 0 2 2 6 4 1 1 0
PIEARTSE 1,266]  2,843| 1,428 1,415 -3 -2 0 2 -2 10 12 1 1 0
s 393 759 361 398 -1 0 0 0 -1 5 6 0 0 0
ek —TH|[ 1,081 1,735 792 943 6 0 0 0 3 24 21 3 3 0
e T H 423 721 356 365 -5 =10 0 0 0 —4 1 5 -6 0 6
kR =T H 676 1,725 809 916 3 -2 1 3 3 6 3 2 2 0
sk BRI H 410 862 412 450 6 1 1 0 5 5 0 0 0 0
ok a e gl 2,590 5,043 2,369] 2,674 5 -1 2 3 7 36 29 -1 5 6
FRIREET 20 54 28 26 0 0 0 0 0 0 0 0 0 0 0
B 7531 1,735 833 902 —4 -8 -3 1 4 -7 0 7 2 3 1
VEEE 320 732 331 401 0 1 -2 0 2 1 3 2 2 2 0
e — T H 4491 1,115 551 564 -3 1 1 -3 4 7 0 0 0
e T H 405 919 446 473 4 5 0 1 1 5 7 2 0 0 0
oo B R 854/ 2,034 997 1,037 2 2 2 2 11 9 0 0 0
P — T H 669 1,371 688 683 -5 -13 -2 0 2 —6 2 8 -5 0 5
P T H 5411 1,300 617 683 1 -1 -1 0 1 0 1 1 0 0 0
WeEm A s 1, 210[ 2,671 1,305] 1,366 -4 -14 -3 0 3 -6 3 9 -5 0 5
P e 319 685 342 343 -3 —4 -3 0 3 -3 0 3 2 6 4
BEHIR 207 500 264 236 —4 —4 -2 0 2 -2 0 2 0 0




